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using Microsoft.VisualStudio.TestTools.UnitTesting;
using A4;

using System;

using System.Collections.Generic;

using System.Ling;

using System.Text;

using System.Threading.Tasks;

using TestCommon;

namespace A4.Tests

{

[DeploymentItem("TestData", "A4_TestData")]
[TestClass()]
public class GradedTests

{

[TestMethod (), Timeout (2000)]
public void SolveTest_Q1BuildingRoads ()

{
RunTest (new Q1BuildingRoads("TD1"));

}

[TestMethod (), Timeout (4000)]
public void SolveTest_Q2Clustering()

{
RunTest (new Q2Clustering("TD2"));

}

[TestMethod (), Timeout (30000)]
public void SolveTest_Q3ComputeDistance()

{
RunTest (new Q3ComputeDistance("TD3"));

3

public static void RunTest(Processor p)

{

TestTools.RunLocalTest("A4", p.Process, p.TestDataName, p.Verifier,
VerifyResultWithoutOrder: p.VerifyResultWithoutOrder,
excludedTestCases: p.ExcludedTestCases);
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A4

{
public class Q1lBuildingRoads : Processor
{
public Q1BuildingRoads(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[][], double>)Solve);
public double Solve(long pointCount, long[][] points)
{
throw new NotImplementedException();
}
}
}
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

using static A4.Q1BuildingRoads;

namespace A4

{
public class Q2Clustering : Processor
{
public Q2Clustering(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[][], long, double>)Solve);
public double Solve(long pointCount, long[][] points, long clusterCount)
{
throw new NotImplementedException();
}
}
}

2y S g el S sl sl lgme 3 355 ool 51 5 ol

P Olaiiu el b abols 5 m e dle ¥

Slazin b slyen b il 5 UL b s 6 bl 51 paily (565ed S5 oo Lo 4 s ol s
S 51 b plases Wl oS T 1y bl 51 olaciis e 5ol b olioman Lt 555 o sols Lol
l.au»\) PO ssls — &Ss s 35750 5ol o Lmu»\) slass = m s N puoeo 348 93 (3909 Jl > s

r‘ASJb)b C«w‘ oSy DJ‘JJEL‘.:@ wb yjl'C)LA:o:AML} nﬂr\.ﬁﬁ); -Jﬁ}i@d)‘&fb)unb \J‘
3579 U whyw w uly 51 dsb bl Jbams oo plis S el 150 5 usas 4w Juli guns baxm 5l
Gt L s ol vjuuabpwéﬂs.s 641"&65\“"):3):’ ZJ}E 45.5}.2@‘_]:.@..@“ 3yl

Compute Distance Faster Using Coordinates *
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using System;

using System.Collections.Generic;
using System.IO;

using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

using GeoCoordinatePortable;

namespace A4
{
public class Q3ComputeDistance : Processor

{
public Q3ComputeDistance(string testDataName) : base(testDataName) { }
public static readonly char[] IgnoreChars = new char[] { '\n', '\r', '
public static readonly char[] NewLineChars = new char[] { '\n', '\r' };
private static double[][] ReadTree(IEnumerable<string> lines)

{

return lines.Select(line =>

line.Split(IgnoreChars, StringSplitOptions.RemoveEmptyEntries)
.Select(n => double.Parse(n)).ToArray()
) .ToArray();

}
public override string Process(string inStr)
{

return Process(inStr, (Func<long, long, double[][], double[][], long,

long[][]1, double[]>)Solve);

}

public static string Process(string inStr, Func<long, long, doublel[][]

,double[][], long, long[][], double[]> processor)

{

var lines = inStr.Split(NewLineChars, StringSplitOptions.RemoveEmptyEntries);

long[] count = lines.First().Split(IgnoreChars,

StringSplitOptions.RemoveEmptyEntries)

.Select(n => long.Parse(n))
.ToArray () ;
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double[][] points = ReadTree(lines.Skip(1).Take((int)count[0]));

double[][] edges = ReadTree(lines.Skip(1l + (int)count[0]).Take((int)count[1]));

long queryCount = long.Parse(lines.Skip(l + (int)count[0] + (int)count[1])
.Take(1) .FirstOrDefault());

long[][1 queries = ReadTree(lines.Skip(2 + (int)count[0] + (int)count[1]))
.Select(x => x.Select(z => (long)z).ToArray())
.ToArray();

return string.Join("\n", processor(count[0], count[1], points, edges,
queryCount, queries));

}

public double[] Solve(long nodeCount,
long edgeCount,
double[] [] points,
double[][] edges,
long queriesCount,
long[][] queries)

throw new NotImplementedException();
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using System; == B <. arch Solution Exglorer (Ctle-
using System.10; a5 Selution 'C4' (2 of 2 projects)
uslng]GEGCuordlnatePortable;I 4 v e
4 & Dependencies
namespace cs - 5t -Eli‘nr;g»orluﬂ Mt
{ B Packages
fiere 4 P GeoCoordinate NetCare (1.0.0.1)
public class Program =8 GeoCoordinateNerCone.dil
{ b .
a[B stdiistex
a 5[] estest

static void Main(string[] args) Bt e

{ P a€® UnitTestl.cs

var pl = (lng: -121.904167, lat: 41,974556);
¥l var p2 = (lng: -124.813367, lat:41.851832);
GeoCoordinate pinl = new GeoCoordinate(pl.lat, pl.1lng);
GeoCoordinate pin2 = new GeoCoordinate(p2.lat, p2.lng);
list = pini. i ceT i 5 N
=L pini.GetDistanceTo(pin2); & .o 175316.41771233827
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